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Question One (1 Mark) 

1 mark for ticking the correct answer 

He got to fly in a space rocket to the moon. 

 

Question Two (1 Mark) 

1 mark for recognising the correct response: 

‘his family moved around a lot’ 

 

Question Three (2 Marks) 

1 mark for getting 1 answer correct or 2 marks for all three correct answers 

Neil – got a pilot license at a young age. 

Buzz – was on the Apollo II with Neil. 

Michael – kept the spacecraft safe. 

 

Question Four (1 Mark) 

1 mark for recognising two of the following answers: 

- went to university 

- learnt to fly lots of different planes 

- became part of NASA 

- went on two space missions 

- was the first man to walk on the moon 
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Question Five (1 Mark) 

1 mark for identifying the correct response: 

 ‘eagerly awaited’ 

 

Question Six (1 Mark) 

1 mark for circling the correct answer 

It was a life-changing event. 

 

Question Seven (1 Mark) 

1 mark for two or three correct answers or 2 marks for all four correct 

Neil learnt to drive a car before getting a pilot license – false 

Buzz was apparently meant to be the first man to step on the moon – true 

Michael Collins had an important job – true 

Lots of people have managed to walk on the moon – false  

 

Question Eight (2 Marks) 

1 mark for a simple contextualised answer 

E.g. Yes because then he wouldn’t have been the first man to walk on the 

moon. 

2 marks for a justified response 

E.g. Neil is most known for being the first man to step on the moon so he 

might not have been famous if Buzz went first instead. He is also remembered 

for his well-known quote which wouldn’t have happened if Buzz went. 

 


